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// AG_sato.cpp : 00000 0000000000000 OO0DOOOODOOOO
//
#include "stdafx.h"

#include <stdlib.h>
#include <math.h>
#include <string.h>
#include <string>
#include <conio.h>
#include "tel.h"
#include "inc_def.h"

//#include <afx.h>

#include "AcO5A.h"
#include "AlUsbA.h"
#include "AcIoA.h"
#include "Bulkusr.h"
#include "communi.h"

#include <windows.h>

#include "fitsio.h"

char str[300];
long cur_pulse_x, cur_pulse_y;

long center_pulse_x = 255700;
long center_pulse_y = 236194;

float orig_nsrot = -63.8;
float thetaorg = 15.0;

//#define DIB_HEADER_MARKER  ((WORD) (°M’ << 8) | ’B’) // "BM"
//#define PALVERSION  0x300 // DIB constants
//#define MAXPALCOLORS 256

#define NX 340

#define NY 256

#define nx 50

#define ny 50

//#define PI 3.1416

//#define TELFLAG 0

#define C_low O

#define C_high 65535

static DWORD hDev1;

static DWORD hDev2;

static ACO5_S_DATA AcO5Data;

static ACO5_S_RESULT AcO5Result;

static ACIO_S_RESULT AcIoResult;

static WORD Cmd ;
static WORD Data;
static ALK_S_RESULT AlkResult;

static WORD Statusl_x;
static WORD Statusl_y;
static WORD Status2_x;
static WORD Status2_y;

char *mid( char *buf, int ns, int nn ){
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int i;
for( i=0; i<=(an-1); i++ ){
str[i] = buf[ns+i-1];

}
str[nn] = °007;
return( str );
}
//
// Open X axis port
//

void XAxiOpen(void){

if ( ACO5_BOpen( ACO5_USB, 1, ACO5_X, ACO5_SLAVE_CD773, &hDevl, &AcOS5Result

printf("Open Error X axis.On");

Sleep(1000) ;
exit(-1);

}

Cmd = O0xF9;

ACO5_BWDriveCommand( hDevl, &Cmd, &AcOS5Result );
printf ("X axis is opened.(In");

}

1/

// Open Y axis port
1/

void YAxiOpen(void){

==0){

if (ACO5_BOpen( ACO5_USB, 1, ACO5_Y, ACO5_SLAVE_CD773, &hDev2, &AcOS5Result ) == 0){

printf("Open Error Y axis.On");

Sleep(1000);
exit(-1);

s

Cmd = OxF9;

ACO5_BWDriveCommand( hDev2, &Cmd, &AcO5Result );
printf("Y axis is opened.On0n");

}

//

// Close X axis port

//

void XAxiClose(void){
ACO5_BClose( hDevl, &AcO5Result );
printf ("X axis is closed.n");

}

//

// Close Y axis port

1/

void YAxiClose(void){
ACO5_BClose( hDevl, &AcO5Result
printf("Y axis is closed.(n");

-

}

long PulseCounter_x(long input_pulse_x){
cur_pulse_x += input_pulse_x;
return(cur_pulse_x);

¥

long PulseCounter_y(long input_pulse_y){
cur_pulse_y += input_pulse_y;
return(cur_pulse_y);

void OriginDrive(){

ACO5_BWaitDriveCommand( hDevl, 0x00, &AcOS5Result );
ACO5_BWaitDriveCommand ( hDev2, 0x00, &AcO5Result );
//AC05_BWaitDriveCommand( hDev3, 0x00, &AcO5Result );

Cmd = 0x12;

ACO5_BWDriveCommand( hDevl, &Cmd, &AcO5Result );
printf ("X axis is initiallizing...On");
//ReadyWait ( &AcO5Result, &StopCode );

Cmd = 0x12;

ACO5_BWDriveCommand( hDev2, &Cmd, &AcO5Result );
printf("Y axis is initiallizing...0On");
//ReadyWait2( &AcO5Result, &StopCode );
WaitLimit();

printf ("X, Y -200 pulse moving...0n");

ACO5_SetData( (DWORD)-200, &AcOSData );
ACO5_IWDrive( hDevl, 0x14, &AcOS5Data, &AcOS5Result );

30



ACO5_IWDrive( hDev2, 0x14, &AcO5Data, &AcO5Result );
//ReadyWait ( &AcO5Result, &StopCode );

//ReadyWait2( &AcO5Result, &StopCode );
WaitNotBusy();

printf ("X, Y 5 pulse scanning...0n")

ACO5_BRStatus1( hDevl, &Statusi_x, &AcO5Result );
ACO5_BRStatus1( hDev2, &Statusl_y, &AcOS5Result );

do{
ACO5_SetData( 5, &AcOSData );
if ((Statusl_x & 0x08) == 0x00){
ACO5_IWDrive( hDevl, Ox14, &AcO5Data, &AcOS5Result
WaitNotBusy();
}
else printf("X axis completed.n");
//ReadyWait ( &AcO5Result, &StopCode );
//ReadyWait2( &AcO5Result, &StopCode );
ACO5_BRStatus2( hDevl, &Status2_x, &AcOS5Result );
// NowAddressDisplay( &AcO5Result );
}while( (Status2_x & 0x08) == 0x00);

do{
ACO5_SetData( 5, &AcOS5Data );
if ((Statusl_y & 0x08) == 0x00){
ACO5_IWDrive( hDev2, Ox14, &AcO5Data, &AcOS5Result
WaitNotBusy();
}
else printf("Y axis completed.n");
//ReadyWait ( &AcO5Result, &StopCode );
//ReadyWait2( &AcO5Result, &StopCode );
ACO5_BRStatus2( hDev2, &Status2_y, &AcO5Result );
// NowAddressDisplay( &AcO5Result );
}while( (Status2_y & 0x08) == 0x00 );

// NowAddressDisplay( &AcO5Result );

// counter reset
cur_pulse_x = 0;
cur_pulse_y = 0;
printf("Origin drive is completed.On(n");

}

void WaitNotBusy(){
//char flagx, flagy;

flagx = 0;
flagy = 0;

while( flagx == 0 || flagy == 0){
if ( flagx == 0){
ACO5_BRStatus1( hDevl, &Statusl_x, &AcO5Result );
// NowAddressDisplay( &AcOSResult );
if ( (Statusl_x & 0x01) == 0x00 ){
flagx = 1;

}
if( flagy == 0){
ACO5_BRStatus1( hDev2, &Statusi_y, &AcO5Result );
// NowAddressDisplay( &AcOS5Result );
if ( (Statusl_y & 0x01) == 0x00 ){
flagy = 1;
¥

}

void WaitLimit(){
//char flagx, flagy;

flagx = 0;
flagy = 0;

while( flagx == 0 || flagy == 0){
if ( flagx == 0){
ACO5_BRStatus2( hDevl, &Status2_x, &AcOS5Result );
// NowAddressDisplay( &AcO5Result );
if ( Status2_x & 0x08 ){
flagx = 1;
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}

if( flagy == 0){
ACO5_BRStatus2( hDev2, &Status2_y, &AcO5Result );
// NowAddressDisplay( &AcOS5Result );
if ( Status2_y & 0x08 ){

flagy =1;
¥
}
}
s
void RateSet(void){
/*%% RATE SET *x*x*/ //% 00 RATESET
//  DRATE : 10ms/1000Hz URATE : 10ms/1000Hz
ACO5_BWaitDriveCommand( hDevl, 0, &AcO5Result );
Data = 0x11;
ACO5_BWDriveData2( hDevl, &Data, &AcOS5Result );
Data = 0x11;
ACO5_BWDriveData3( hDevl, &Data, &AcOS5Result );
Cmd = 0x06;

ACO5_BWDriveCommand( hDevi, &Cmd, &AcO5Result );

/**x LSPD SET ***/

// LSPD : 1000Hz

ACO5_BWaitDriveCommand( hDevl, 0, &AcO5Result );
ACO5_SetData( 3000, &AcO5Data );

ACO5_IWDrive( hDevl, 0x07, &AcO5Data, &AcOS5Result );

/*%% HSPD SET *x**/

//  HSPD : 5000Hz

ACO5_BWaitDriveCommand( hDevl, 0, &AcO5Result );
ACO5_SetData( 50000, &AcO5Data );

ACO5_IWDrive( hDevl, 0x08, &AcO5Data, &AcO5Result );

/**% RATE SET *x*/ //Y 00 RATESET
//  DRATE : 10ms/1000Hz URATE : 10ms/1000Hz

ACO5_BWaitDriveCommand( hDev2, 0, &AcOS5Result );

Data = 0x11;

ACO5_BWDriveData2( hDev2, &Data, &AcOS5Result );

Data = 0x11;

ACO5_BWDriveData3( hDev2, &Data, &AcOS5Result );

Cmd = 0x06;

ACO5_BWDriveCommand( hDev2, &Cmd, &AcO5Result );

/**xx LSPD SET *#**/

//  LSPD : 1000Hz

ACO5_BWaitDriveCommand( hDev2, 0, &AcOS5Result );
ACO5_SetData( 3000, &AcOS5Data );

ACO5_IWDrive( hDev2, 0x07, &AcOS5Data, &AcOS5Result );

/**xx HSPD SET #*#**/

//  HSPD : 5000Hz

ACO5_BWaitDriveCommand( hDev2, 0, &AcOS5Result );
ACO5_SetData( 50000, &AcOS5Data );

ACO5_IWDrive( hDev2, 0x08, &AcO5Data, &AcO5Result );

}

void Jushin(unsigned int pix[][NX], double *x_grav, double *y_grav, double *SkyLev){
int i, j, x, y;
double sigma_x = 0.0, sigma_y = 0.0, count = 0.0;
double Sky = 0.0;
int n_Sky = 0;
x = NX;
y = NY;

for( j = 0; j <= 10; j++)

{
for( i = 0; i <= 10; i++)
{
Sky += pix[jl[il;
n_Sky++;
¥
¥

for( j = 0; j <= 10; j++)

for( i = x-11; i <= x-1; i++)
{
Sky += pix[j1[il;
n_Sky++;
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}

}
for( j = y-11; j <= y-1; j++)

for( i = 0; i <= 5; i++)

{
Sky += pix[j1[il;
n_Sky++;
}
}
for( j = y-11; j <= y-1; j++)
{
for( i = x-11; i <= x-1; i++)
{
Sky += pix[j]1[il;
n_Sky++;
}
}

*SkyLev = Sky / n_Sky;

for( j =05 j <y; j+o)

{
for( i = 0; i < x; i++)
{
sigma_x += i * (pix[jI1[i]l - *SkyLev);
sigma_y += j * (pix[jI1[i]l - *SkyLev);
count += ( pix[jl[i] - *SkyLev )
}
¥

*x_grav = sigma_x / count;
*y_grav = sigma_y / count;

if( *x_grav < 0.0 ) *x_grav = x / 2.0;
if ( *x_grav > x ) *x_grav = x / 2.0;
if( xy_grav < 0.0 ) x*y_grav =1y / 2.0;
if( *xy_grav > y ) *y_grav =y / 2.0;

void Maximam(unsigned int pix[][NX], int &M_x, int &M_y, int &M_count){

}

//

int i, j;
int Max = -100;

for ( j =0; j < NY; j++)

{
for (i =0; i < NX; i++)
{
if (Max <= pix[il[j1)
{
Max = pix[il[j1;
M_x = i;
Moy =3
}
¥
}

M_count = Max;

// Get current telescope state

//

void pos_now(double *center_ra, double *center_dec, double *nsrot){

double RA_base, DEC_base;
double offset_RA, offset_DEC, offset_NsROT;

TELEPARAM *teldata;
teldata = (TELEPARAM *)malloc(sizeof (TELEPARAM));
memset ((TELEPARAM *)teldata, 0.0, sizeof (TELEPARAM));

// Initialize Socket
//SockInit();
//SockConnect () ;

// get radec, offset_radec, nsrot
// R_A_OBJ, DEC_OBJ, OFF1_R_A, OFF1_DEC, OFF1_ROT2
GetTelValue(teldata);

RA_base = teldata->obj_ra;
DEC_base = teldata->obj_dec;
offset_RA = teldata->offset_ra;
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offset_DEC = teldata->offset_dec;
offset_NsROT = teldata->nsrot;

*center_ra = RA_base + offset_RA;
*center_dec = DEC_base + offset_DEC;
*nsrot = offset_NsROT;

free(teldata);
//closesocket (sock) ;

//sock=INVALID_SOCKET;
¥

int circget(void){

double Deg2Rad = 0.017453292; /* PI/180 */
int i;

FILE *fpl, *fp2;
char buf[250], last_buf[250], fbuf[50];
double al, di, a2, d2;

// double rahms, decdms, ras, decs;
double ratel, dectel;

// int rah, ram;

// int decd, decm;

double rarad, decrad;
double rah_orig, decd_orig;
double decsign;

double nsrot;

char f2[] = "circget.out"; // output file name
double radius = 8.; // search radius

double coscrit, sindl, cosdl;
double cosd2, sind2, cosaa, cosc;

int n=0, nm=0;
int di;
/**xx center position x**/

/*
rah = rahms / 10000.0;
ram = (rahms - rah*10000.0) / 100.0;
ras = rahms - rah*10000.0 - ram*100.0;
rah_orig = rah + ram/60.0 + ras/3600.0;
rarad = rah_orig * 15.0 * Deg2Rad;
al = rarad;

*/

decd = decdms / 10000.0;
decm = (decdms - decd*10000.0) / 100.0;
decs = decdms - decd*10000.0 - decm*100.0;
decd_orig = decsign * ( decd + decm/60.0 + decs/3600.0);
decrad = decd_orig * Deg2Rad;
dl = decrad;
*/

pos_now(&ratel, &dectel, &nsrot);

rarad = ((ratel / 3600) * 15) * Deg2Rad;
al = rarad;
rah_orig = (rarad / 15.0) / Deg2Rad;

decrad = (dectel / 3600) * Deg2Rad;
dl = decrad;
decd_orig = decrad / Deg2Rad;

if ( decrad < 0.0 ){
decsign = -1.0;
decrad *= -1.0;

else
decsign = +1.0;

if (75 < decd_orig && decd_orig <=90){
strcpy( fbuf, "ra0024dec7590.dat" );
if ( ( fp1 = fopen( fbuf, "rt" ) ) == NULL ){
printf( "Can’t open gsc filelln" );
exit( -1 );



}
else if(60 < decd_orig && decd_orig <= 75){
di = 3;
for(i=0; i<24; i+=di){
if (i <= rah_orig && rah_orig < i+di){
sprintf (fbuf, "raj02d%02ddec6075.dat", i, i+di);
if ( ( fpl = fopen( fbuf, "rt" ) ) == NULL ){
printf( "Can’t open gsc file.On" );

exit( -1 );
¥
}
¥
}
else if(45 < decd_orig && decd_orig <= 60){
di = 3;
for(i=0; i<24; i+=di){
if(i <= rah_orig && rah_orig < i+di){
sprintf (fbuf, "ra’%02d%02ddec4560.dat", i, i+di);
if ( ( fpl = fopen( fbuf, "rt" ) ) == NULL ){
printf( "Can’t open gsc file.On" );
exit( -1 );
¥
}
}
}
else if(30 < decd_orig && decd_orig <= 45){
di = 2;
for(i=0; i<24; i+=di){
if (i <= rah_orig && rah_orig < i+di){
sprintf (fbuf, "ra’%02d%02ddec3045.dat", i, i+di);
if( ( fpl = fopen( fbuf, "rt" ) ) == NULL ){
printf( "Can’t open gsc file.On" );
exit( -1 );
}
}
}
s
else if(15 < decd_orig && decd_orig <= 30){
di = 2;
for(i=0; i<24; i+=di){
if(i <= rah_orig && rah_orig < i+di){
sprintf (fbuf, "ra)02d%02ddec1530.dat", i, i+di);
if ( ( fp1 = fopen( fbuf, "rt" ) ) == NULL ){
printf( "Can’t open gsc file.On" );
exit( -1 );
¥
¥
}
}
else if (0 < decd_orig && decd_orig <= 15){
di = 1;
for(i=0; i<24; i+=di){
if(i <= rah_orig && rah_orig < i+di){
sprintf (fbuf, "ra’%02d%02ddec0015.dat", i, i+di);
if( ( fpl = fopen( fbuf, "rt" ) ) == NULL ){
printf( "Can’t open gsc file.On" );
exit(-1);
}
}
}
}
else if(-15 < decd_orig && decd_orig <= 0){
di =
for(i=0; i<24; i+=di){
if (i <= rah_orig && rah_orig < i+di){
sprintf (fbuf, "ra%02d%02ddec-1500.dat", i, i+di);
if ( ( fpl = fopen( fbuf, "rt" ) ) == NULL ){
printf( "Can’t open gsc file.On" );
exit( -1 );
}
}
¥
}
else if(-15 < decd_orig && decd_orig <= 0){
di = 1;

for(i=0; i<24; i+=di){
if(i <= rah_orig && rah_orig < i+di){
sprintf (fbuf, "ra%02d%02ddec-1500.dat", i, i+di);
if ( ( fpl = fopen( fbuf, "rt" ) ) == NULL ){
printf( "Can’t open gsc file.On" );
exit( -1 );
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}

else if(-30 < decd_orig && decd_orig <= -15){

di = 2;
for(i=0; i<24; i+=di){

if (i <= rah_orig && rah_orig < i+di){

sprintf (fbuf, "ra%02d%02ddec-30-15.dat", i, i+di);
if( ( fp1l = fopen( fbuf, "rt" ) ) == NULL ){
printf( "Can’t open gsc file.On" );

exit( -1 );

}
}

else if(-45 < decd_orig && decd_orig <= -30){

di
for(i=0; i<24; i+=di){

if (i <= rah_orig && rah_orig < i+di){

sprintf (fbuf, "ra%02d%02ddec-45-30dat", i, i+di);
if ( ( fpl = fopen( fbuf, "rt" ) ) == NULL ){
printf( "Can’t open gsc file.On" );

exit( -1 );

}

printf("Searching %s ...... On", fbuf);
/**x open output file *¥*/
if( ( fp2 = fopen( £2, "wt" ) ) == NULL ){

printf( "Open error ’%s’On", £2 );

exit( -1 );
}

printf( "Center RA = %07.5f DEC = %+07.5f00n", rarad, decrad );
fprintf( £p2, "Center RA(rad) = %07.5f DEC(rad) = %+07.5f0n", rarad, decrad );

/*xx circle radius **xx/

printf( "Radius(arcmin) %7.4f0n", radius );
fprintf( fp2, "Radius(arcmin) %7.4f0n", radius );

radius = (radius/60.0) * Deg2Rad;
coscrit = cos( radius );

sindl = sin( d1 );

cosdl = cos( dl );

/*** scan catalogue file ***/

while( feof( fp1 ) == 0 ){
fgets( buf, 250, fpl );
if ( stremp( buf, last_buf ) == 0 )
continue;

n++

a2 = atof( mid( buf, 1, N
)

1, 7)
d2 = atof( mid( buf, 9, 8 )

H

if( a2 > 6.28319 || a2 < 0.0 || d2 > 1.57080 || d2 < -1.57080 ){
printf( "Data error in ’%s (a2=Y%e d2=le)’On", fbuf, a2, d2 );

printf( "%s", buf );
fclose( fpl );
fclose( fp2 );

exit( -1 );

cosd2 = cos( d2 );
sind2 = sin( d2 );
cosaa = cos( al - a2 );

cosc = sindl*sind2 + cosdl*cosd2*cosaa;

/*** compare *xx/
if ( cosc > coscrit ){
radius = acos( cosc );

radius = (radius / Deg2Rad) * 60;

nm++;

fprintf( fp2, "%s %4.2f0n", mid(

strcpy( last_buf, buf );

( strlen( buf ) -1 ) ), radius
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printf( "Scanning ended. Total %d Match %d0n", n, nm );
fprintf( fp2, "Scanning ended. Total %d Match %dOn", n, nm )

fclose( fp2 );
fclose( fpl );

return( nm );

1/

// Determine guide star
1/

int detgstar(void){

char *circgetout = '"circget.out";

// double arcsec2pix = 12.5;
double pix2pulse = 10000 / 310;
double deg2rad = 0.017453292; /* PI/180 */

char buf[200], last_buf[200];

char buf1[100], buf2[100], buf3[100], buf4[100], buf5[50], buf6[50], buf7[50];
char ratmpstr[20] = "0.00000", dectmpstr[20] = "0.00000", magtmpstr[20] = "00.00", radiustmpstr[20] = "0.00";
char center_rastr[20] = "0.00000", center_decstr[20] = "0.00000";

double ratmp, dectmp, magtmp, radiustmp;

double ramax, decmax, magmax = 16.1, radiusmax = O;

double center_ra, center_dec;

double ra_guide, dec_guide, mag_guide, radius_guide;

double dra, ddec;

double nsrot;

double ratel, dectel;

double rotate_dra, rotate_ddec;

double arcsec_dra, arcsec_ddec;

double orig2gstar_pulse_x, orig2gstar_pulse_y;

double dtheta;

double SF; SF = 0.072 * 4; // (arcsec/pix)

FILE *fp;

if ((fp = fopen(circgetout, "rt")) == NULL){
printf ("Cannot open circget output file ’%s’0Un", circgetout);

}
else{
while(feof (fp) == 0){
fgets(buf, 200, fp);
if (stremp(buf, last_buf) == 0)
continue;
sscanf (buf, "%s %s %s %s %s %s %s", bufl, buf2, buf3, buf4, buf5, buf6, buf7);
if (strcmp(bufl, "Center") != 0 && strcmp(bufl, "Radius(arcmin)" ) != 0 && strcmp(bufl, "Scanning") != 0){
strcpy (ratmpstr, bufl); ratmp = atof (ratmpstr);
strcpy(dectmpstr, buf2); dectmp = atof (dectmpstr);
strcpy (magtmpstr, buf3); magtmp = atof (magtmpstr) ;
strcpy(radiustmpstr, buf4); radiustmp = atof (radiustmpstr);
if (magmax > magtmp && radiustmp > 3.00){
ramax = ratmp;
decmax = dectmp;
magmax = magtmp;
radiusmax = radiustmp;
¥
¥
if (strcmp(bufl, "Center") == 0){
strcpy(center_rastr, buf4); center_ra = atof(center_rastr);
strcpy(center_decstr, buf7); center_dec = atof (center_decstr);
}
¥
ra_guide = ramax;
dec_guide = decmax;
mag_guide = magmax;
radius_guide = radiusmax;
if (magmax == 16.1 && radiusmax == 0){
printf("Please select a guide star by yourself.0n");
¥
else{
printf("Guide Star:[ nRA(rad):%07.5f DEC(rad):%+08.5f mag:%05.2f radius(arcmin):%04.2f00n", ra_guide, dec_guide, mag_guide, radius_guide);
}
}

// Moving stage to guide star
dra = ra_guide - center_ra;
ddec = dec_guide - center_dec;
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pos_now(&ratel, &dectel, &nsrot);
dtheta = (nsrot - orig_nsrot) * deg2rad;

rotate_dra = dra * cos(dtheta) - ddec * sin(dtheta);
rotate_ddec = dra * sin(dtheta) + ddec * cos(dtheta);

arcsec_dra = (rotate_dra/deg2rad) * 3600;
arcsec_ddec = (rotate_ddec/deg2rad) * 3600;

orig2gstar_pulse_x = center_pulse_x + ((arcsec_dra / SF) * pix2pulse);
orig2gstar_pulse_y = center_pulse_y + ((arcsec_ddec / SF) * pix2pulse);

printf("Send pulse to X stage: %d0n", (DWORD)orig2gstar_pulse_x);
printf("Send pulse to Y state: %d0n", (DWORD)orig2gstar_pulse_y);

/*
ACO5_BWaitDriveCommand( hDevl, O, &AcO5Result );
ACO5_SetData( (DWORD)-orig2gstar_pulse_x, &AcO5Data );
ACO5_IWDrive( hDevl, O0x14, &AcO5Data, &AcO5Result );
WaitNotBusy () ;
PulseCounter_x((long)-orig2gstar_pulse_x);

//ReadyWait ( &AcO5Result, &StopCode );
//StopCodeDisplay( StopCode ) ;

ACO5_BWaitDriveCommand( hDev2, 0, &AcO5Result );
ACO5_SetData( (DWORD)-orig2gstar_pulse_y, &AcO5Data );
ACO5_IWDrive( hDev2, 0x14, &AcO5Data, &AcO5Result );
WaitNotBusy();
PulseCounter_y((long)-orig2gstar_pulse_y);
//ReadyWait2( &AcO5Result, &StopCode );
//StopCodeDisplay( StopCode );

printf("X,Y stage is moved to guide star.0n");

*/
return(0) ;
¥
1/
// FITS write image using cfitsio
//

int writefitsimage( unsigned int pixdatal[] [NX] ){

fitsfile xfp;

char *outfile = "!current.fits"; // ’!’ allows overwrite if it already exists.
int status;

long fitsnaxes[2];

fitsnaxes[0] = NX;
fitsnaxes[1] = NY;

if ( fits_create_file( &fp, outfile, &status ) != 0 ){
printf( "Cannot create file ’%s’. status=/d0n",0
outfile, status );
return( status );

}

if ( fits_create_img( fp, USHORT_IMG, 2, fitsnaxes, &status ) != 0 ){
printf( "Cannot create image header. status=}d0n",0
status );
return( status );

}

if ( fits_write_img( fp, TUINT, 1, fitsnaxes[0O]*fitsnaxes[1], O
pixdata, &status ) != 0 ){
printf( "Cannot write image data. status=}d0n",0
status );
return( status );

}

if ( fits_close_file( fp, &status ) != 0 ){
printf( "Cannot close file ’%s’ normall. status=/d0n",0
outfile, status );
return( status );

¥

return( 0 );

}

void AutoGuide(void){
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CSize size;

HGLOBAL hCCD = NULL;

long Ti;

double exp_time = 1.0;

int i, j;

double nsrot;

double ratel, dectel;

double dtheta;

double SF; SF = 0.072 * 4;

double deg2rad = 0.017453292; /* PI/180 */

// unsigned int pixel[NX][NY];
unsigned int pixdatal[NY] [NX];

// Exposure Time
Ti = exp_time * 1000.;

// CCD Environmental Setting
BYTE datai[] = {0x20, 0x10, 0, 0, 0};
OutPort(datal, sizeof(datal));

// Binning Setting (16bit, 4x4 binning, all pixel)
size = CCDSizeExposure(0, 3, 0);

//size.cx = NX;

//size.cy = NY;

// check whether telescope is tracking or not

while( TGetValueInt( 138 ) == 0 ){
Sleep( 100 );
}

// exposure starting
printf( "Exposure started. Exp_time %1d msecOn", Ti );
CCDStartExposure( Ti );
while( CCDExposingState() != 0 ){
Sleep( 100 );
}
printf( "Exposure finishedOn" );

// Exposure Setting
//BYTE data3[] = {0x22, LOBYTE(Ti), HIBYTE(Ti), O0};
//0utPort (data3, sizeof(data3));

// Beginning Exposure
//BYTE data4[] = {0x23, 0};

//Sleep ((DWORD)Ti*100) ;
// Transfer Image Data
hCCD=: :GlobalAlloc (GMEM_MOVEABLE | GMEM_ZEROINIT, size.cx * size.cy * 2);

CCDTransferImage(0, hCCD);

// Finish Exposure();
CCDFinishExposure() ;

LPBYTE pCCD = (LPBYTE) ::GlobalLock(hCCD);

for ( j = NY-1; j >= 0; j--)

{
for (i =0; i < NX; i++)
{
ULONG data = MAKEWORD(pCCD[0], pCCD[1]);
//pixdatali] [j] = data;
pixdata[j]l[i] = data;
pCCD += 2;
}
}
: :GlobalUnlock (hCCD) ;
: :GlobalFree (hCCD) ;

printf( "Pixdata Y%d %d %d0n", pixdata[50]([71], pixdata[50][72], pixdata[50]1[73] );
printf( "Pixdata Y%d %d %d0n", pixdata[51]([71], pixdata[51][72], pixdata[51]1[73] );
printf( "Pixdata ’%d %d %d0n", pixdata[62][71], pixdata[52][72], pixdata[562][73] );

printf( "Write fits file... status %d0n", writefitsimage( pixdata ) );

// convert to 8bit data
unsigned int pixel[NY][NX];

for( j = 0; j <NY; j++){
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for( i = 0; i < NX; i++){

pixel[j1[i] = (pixdatal[jl[i] - C_low) * 256 / (C_high - C_low);

if (pixel[j1[i] < 0)
pixel[j1[i]l = 0;

else if(pixel[j][i] > 255)
pixel[jl[i] = 255;

double GX, GY, LOS;

double guid_GX, guid_GY;

double dGX, dGY;

double rotate_dGX, rotate_dGY;
double arcsec_dra, arcsec_ddec;

// remove skylevel(LOS) and get center of gravity(GX,GY)

Jushin(pixel, &guid_GX, &guid_GY, &LOS);

printf("First center of gravity is gettedOn");

/*
while(1){

// check whether telescope is tracking or not

while( TGetValueInt( 138 ) == 0 ){
Sleep( 100 );
}

// exposure starting

printf( "Exposure started. Exp_time %1d msecOn", Ti );

CCDStartExposure( Ti );

while( CCDExposingState() != 0 ){
Sleep( 100 );

}

printf( "Exposure finishedOn" );

// Transfer Image Data

hCCD=: :GlobalAlloc (GMEM_MOVEABLE | GMEM_ZEROINIT, size.cx * size.cy * 2);

CCDTransferImage(0, hCCD);

// Finish Exposure();
CCDFinishExposure() ;

LPBYTE pCCD = (LPBYTE) ::GlobalLock(hCCD);

for ( j = NY-1; j >= 0; j--)
{

for (i = 0; i < NX; i++)

{

ULONG data = MAKEWORD (pCCD[0], pCCD[1]);
//pixdatalil [j] = data;
pixdata[j][i] = data;

pCCD += 2;

}

}

: :GlobalUnlock (hCCD) ;

: :GlobalFree (hCCD) ;

//A/D OO 16bit OO

printf( "Pixdata Y%d %d %d0n", pixdata[50]([71], pixdata[50][72], pixdata[50]1[73] );
printf( "Pixdata Y%d %d %d0n", pixdata[51]([71], pixdata[51][72], pixdata[51]1[73] );
printf( "Pixdata %d %d %d0n", pixdata[52][71], pixdata[52][72], pixdata[52]([73] );

printf( "Write fits file... status %d0n", writefitsimage( pixdata ) );

// convert to 8bit data
for( j = 0; j <NY; j++){
for( i = 0; i < NX; i++){

pixel[j1[i] = (pixdatal[jl[i] - C_low) * 256 / (C_high - C_low);

if (pixel[j1[i] < 0)
pixel[j1[i] = 0;

else if (pixel[j][i]l > 255)
pixel[jI[i] = 255;

}

}

// remove skylevel(LOS) and get center of gravity(GX,GY)

Jushin(pixel, &GX, &GY, &LOS);

if(guid_GX != GX || guid_GY != GY){
dGX = GX - guid_GX;
dGY = GX - guid_GX;

pos_now(&ratel, &dectel, &nsrot);
dtheta = (nsrot - orig_nsrot) * deg2rad;



rotate_dGX = dGX * cos(dtheta) - dGY * sin(dtheta);
rotate_dGY = dGX * sin(dtheta) + dGY * cos(dtheta);

arcsec_dra = rotate_dGX * SF;
arcsec_ddec = rotate_dGY * SF;

SendTelescopeOff

o

*/

//

set(arcsec_dra, arcsec_ddec);

// Initializing Socket communication

//
int SockInit( void ){
WSADATA wsa;

int ret;
if ( (ret=WSAStartup(MAKEWORD(1,1), &wsa))){
char buf[80];
sprintf( buf, "%d is the err", ret );
printf("%sOn", buf );
exit( -1 );
¥
return FALSE;
}
//

// Socket Connection (fo:

//

int SockConnect( void ){
SOCKADDR_IN cl_s

r Client)

in;

sock = socket( AF_INET, SOCK_STREAM, IPPROTO_TCP );

if ( sock==INVALI
printf(

D_SOCKET) {
"Socket () failed" );

return TRUE;

}

memset( &cl_sin,
cl_sin.sin_famil.
cl_sin.sin_port
cl_sin.sin_addr.

0x00, sizeof( cl_sin ) );
y = AF_INET;
= htons( PORT );
s_addr = inet_addr( HOST_NAME );

if ( connect( sock, (LPSOCKADDR)&cl_sin, sizeof(cl_sin))==SOCKET_ERROR ){
if ( WSAGetLastError () !=WSAEWOULDBLOCK){

}
}
return FALSE;
}

//

// Get current ra, dec,

//

double GetTelValue(TELEP
char wbuf[1024],
memset ( wbuf, O,
memset( rbuf, O,

// R_A_OBJ, DEC_

closesocket( sock );
sock=INVALID_SOCKET;

printf( "connect() failed" );
return TRUE;

offset(ra, dec, nsrot)

ARAM *teldata){
rbuf [1024] ;
sizeof ( wbuf ) );
sizeof ( rbuf ) );

0BJ, OFF1_R_A, OFF1_DEC, OFF1_R0OT2

sprintf( wbuf, "A %03d %03d %03d %03d %03d0n", 38, 39, 50, 51, 306 );

if( send( sock,
printf(

}

Sleep( 100 );

if ( recv( sock,
printf(

}

sscanf (rbuf, "A
return FALSE;

}

wbuf, strlen(wbuf), O )==SOCKET_ERROR ){
"Sending Socket connection failed." );

rbuf, 1024, 0 ) <= 0 ){

"Receiving null data in Socket Connection." );

%1f %1f %1f %1f %1f0n", &teldata->obj_ra,

int TGetValueInt( int command ){

char wbuf[1024],
memset ( wbuf, O,
memset ( rbuf, 0,

rbuf [1024] ;
sizeof ( wbuf ) );
sizeof ( rbuf ) );

&teldata->obj_dec,
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sprintf( wbuf, "A %03d0n", command );
if( send( sock, wbuf, strlen(wbuf), O )==SOCKET_ERROR ){
printf( "Sending Socket connection failed.n" );
¥
Sleep( 100 );
if( recv( sock, rbuf, 1024, 0 ) <= 0 ){
printf( "Receiving null data in Socket Connection.On" );

3}
return atoi( &rbuf[2] );
}
int TGetOffset( TELSTAT *telstat ){

char wbuf [1024], rbuf[1024];
memset ( wbuf, 0, sizeof( wbuf ) );
memset( rbuf, 0, sizeof( wbuf ) );

sprintf( wbuf, "A %03d %03d %03d %03d %03d %03d0n",O
50, 51, 52, 53, 54, 306 );
if( send( sock, wbuf, strlen(wbuf), O )==SOCKET_ERROR ){
printf( "Sending Socket connection failed." );
¥
Sleep( 100 );
if ( recv( sock, rbuf, 1024, 0 ) <= 0 ){
printf( "Receiving null data in Socket Connection." );
}
//AfxMessageBox ( rbuf );
sscanf ( rbuf, "A %1f %1f %1f %1f %1f %1f", &telstat->ra, &telstat->dec,l
&telstat->azi, &telstat->al, &telstat->irl, &telstat->ir2 );

free(telstat);

return FALSE;
}

int TOffset( const TELSTAT xtelstat ){
char wbuf [1024], rbuf[1024];
memset ( wbuf, 0, sizeof( wbuf ) );
memset( rbuf, 0, sizeof( wbuf ) );

sprintf( wbuf, "P %.11f %.11f %.11f %.11f %.11f %.11f0n",0
telstat->ra, telstat->dec, telstat->irl, telstat->ir2,0
telstat->azi, telstat->al );

if ( send( sock, wbuf, strlen(wbuf), O )==SOCKET_ERROR ){
printf( "Sending Socket connection failed." );

s

Sleep( 100 );

if( recv( sock, rbuf, 1024, 0 ) <= 0 ){
printf( "Receiving null data in Socket Connection." );

}
return FALSE;
}
//
// Move Telescope (sending offset)
//

int SendTelescopeOffset( double dalp, double ddel ){
TELSTAT *telstat;
telstat = (TELSTAT #*)malloc( sizeof( TELSTAT ) );
memset ( (TELSTAT *)telstat, 0.0, sizeof( TELSTAT ) );

TGetOffset ( telstat );

telstat->ra = telstat->ra - dalp;
telstat->dec = telstat->dec + ddel;
telstat->irl = telstat->irl * 3600;
telstat->ir2 = telstat->ir2 * 3600;

TOffset( telstat );
free( telstat );

return FALSE;
}

//

// main function

//

int _tmain(int argc, _TCHAR* argv[])
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// CCD Initiallize
int temp_ccd, temp_body;

printf( "CCDOpenDevice : %sOn", CCDOpenDevice() );

if (CCDControllerReset() == TRUE)
printf( "CCDControllerReset: TRUEOn" );

else
printf( "CCDControllerReset: FALSEOn" );
/*---- the following line was deleted 2011-01-31 M.Yoshida
printf( "CCDControllerReset: %dUn", CCDControllerReset() );

J—y
printf( "CCDGetInfomation : %sOn", CCDGetInfomation(NULL) );

CCDGetTemperature( 0, &temp_ccd );
CCDGetTemperature( 1, &temp_body );

printf( "Temperature CCD : %+.1f Body : %+.1f0n", temp_ccd/10., temp_body/10.

printf( "CCD device opened.On" );

// Stage Inittiallize
ALK_EnvironmentInfo_Tool (&AlkResult);
XAxiOpen() ;

YAxiOpen(Q) ;

printf( "Motor driver opened.(ln" );

OriginDrive();

// SockInit();

// SockConnect () ;
printf( "CircgetOn" );

circget();

detgstar();

-

printf( "Start autoguide(ln"
AutoGuide();

XAxiClose();
YAxiClose();

// closesocket( sock );
// sock=INVALID_SOCKET;

-

printf( "Now sleeping...[ln"
Sleep( 10000 );
return O;
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oy

1] 0000 0000000000000 0000000000M 0000 ooooo
20080

2] 0000000000 14m000000000DODOO0OOOOOO ODOO0OD020010
3] D000 000 CO0O 0DDODDMO0D0O0O0ooooooOoOo20040

4] DALODOOD USBOOOOODOO CB-23/USBOO0OODOO MM MelecO

b DALOOODODOOODOOO CB-34/1000 0000 M MeleeO

6 0000000000000 O0D00O00O0OO CDh-773/ADB5331A 00000 O0O
O MelecO

[7] OSTEPPING & SERVO MOTER CONTROLLER’S OPTION MPL-
28/ALUSBWXP 0 00000 O0OOOODODOOO AL MCCO5 OO OO0 OO0
O MelecO
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